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Generadl Instructions : .

(i) Question No. 1'is compulsory. B - , - 1x8 = 8
‘(i)  From Question No. 2, answer any ten. S - 2x10 = 20
(i) From Question No. 3, answer any nine. 3x9 =27
(iv) From Question No. 4, answer any three. , . 5x3 =15
~ (v) Answer should be specific and to the point. - ' Total = 70
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1 Answer the following questions : - | : | 1x8=8
(a) What is the value of angular momentum for nth Bohr Orb1t'r‘
n-B% @ SRR« @ﬂﬁ?‘mﬂ?m?ﬁ?

- (b) What is the ox1dat10n state of Kin K02
Kozc,@memmmam '

(g Due to which effect tertiary (3) carbocatlons are more stable than -
' primary (1°) carbocation ?

@mmwmﬂ%ﬁﬁwm@mﬂmu)wﬁm@m@@ﬁ@#

.?“19 ,

. (d) Write the general combustion reactlons equation.

| 'ﬁm@mﬁﬁmﬁaﬁwﬁ GETCRT |

(e) Out of Na or K which one will show longest wavelength ﬂame in ﬂame
test?.

Namemmmmgmﬁ@ﬁ@mm T e

(ﬂ ‘What do you mean by limiting reagent?
fﬂﬁ@ RS o a‘ft QRI?

Ty
I B

(g) Give one example of electron deficient covalent hydride.

g ORI AN 2RERren @ Baiget e |
~ (h) - Write the IUPAC name of neopentane.

. FONAATS -4 TUPAC 15 (Tt

2. Answer any ten questions : | A : 2x10=20
T I 7 2T e e ¢ ‘ | |

(a) What is the set of quantum numbers for last electron of K 199

| KO- mwﬁﬂmwmﬁammeﬁaw{%ﬁ@m?
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‘What is inorganic benzene ? How W111 you prepare morgamc benzene ?

W@ﬂﬁﬁﬂ?ﬁ?@?@ﬁ@ﬂ%ﬂﬁ—mmwm?

Define electron a.fﬁmty Why electron affinity of Clis more than Falthough
electron afﬁmiy decreases down the group ? : ’

g P ¢ Awe! I whie 0 (Group-a) TR cﬂwﬁmﬁ@w

ﬁmcz-mﬁa@awm%ma@m@ﬁm?

Arrange the followmg in increasing order :

(i) Na, Rb, Cs, K (reducing capacity)

(i) KOH, Al(OH)s, Mg(OH), Rb(OH) - (basicity)
frneef SrEm s 2 |

() Na, Rb, Cs, K (Remd W‘N)

(u) KOH, Al(OH)3, Mg (OH), Rb (OH) (wa?m 0]

A container contains 2L of milk. Calculate the volume of the milk in m3.

aasf%vnmﬂ%iﬁwwmnzmw m3 P AR I |

What are the 31gn1ﬁcance of van- der Waals constants ‘@’ and ‘b’

WW‘GW-&EHW @ R b7 oAl e

Write the mathematlcal expression for compressibility .factor (Z) and
what is the value of Z for an ideal gas? |

ww%@i@m%w)-mﬁnﬁmwﬁaﬁmmwmmwﬁmw
Z-«WW'Q@' (GI

The pH of a solution at 25°C is 2. If the pH is to be doubled then what
will be the hydronium ion concentration ? ‘

5° Savon <=6 T pH- mwzlp}l mmuﬁﬁma@rﬁmm
mwm?

Describe one method of removal of permanent hardness of water.

Wﬁm(ﬂa@)@w G5 e JIYI I |
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Wnte the chemical reactions involved for detectron of N1trogen in an

,orgamc compound by Lassa.lgne s Test.

| APIER-aR SRR @’Kﬂt?@ mﬁmAWWWW

| ﬁﬁmeﬁ ol

N

‘How many sigma and p1-bonds are present in Toluene ?

Why I-LF can’t be stored in Glass bottle ?
HF—C<s as @IW AR I Al A2

Arrange the followmg in 1ncreas1ng order of Bond order :

Ob,Cb and Cb

."ﬁmwweﬁ@mmemw

Answer any nine questions
I A AT ez e ¢
(@)

02, 0, =% 02

AA1389=27

Calculate the wavelength wave number and energy of radlatlon
corresponding to the spectral line of lowest frequency in Lyman series
in the hydrogen spectrum. (Ry=1.097 x 107m-1, h=6.62 x 10-34Js)

UGS AL i R T KRS G ST, Wﬂw«{

. s = o T | (Ry= 1.097 x 107m™!, h=6.62x 1o~34Js)

(b)

AWhat are zeolites ? Give two uses. qf ZSM-S.

-"maﬁ%ﬁ?zsmsmzﬁwm|

- (d).

Define Hybridization. Suggest the structure of ClF3 in the hght of -

hybnd1zat10n concept. ‘
AR e CIF; 99 mwmmmwmn

From k1netlc gas equation, show that total kinetic energy of lmol of an

* ideal gas is QKT
Vmﬁwﬁw«mmm 1 WWWW—KT =0
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A person inhales 640g of O, per day. If O is used -for .converting"j
sucrose (Cy2H22011) into CO, and H,0, how much sucrose is consumed

_in the body per day and what will be the heat evolved '? G1ven AfH for
'sucrose =- 5645kJ mol-1 . .

GG sn:gr efSfit 640g O, e mu M srwE (C12H22011) - co2 aa'» -

| Hy0-Co SR s TR O; TR T T, O TR TS oAt st
Tl N YRS W @R ©f cmm@mﬁ%m? mmmemmﬁ |

A fH = - 5645 kJmol1

. Discuss the condition for a process to be spontaneous in terms of ‘,
. entropy and Gibbs function.

mﬁ«\mmmﬁwwﬁaﬁm@a‘ﬂﬁmmmm ,
WWI

Balanc_e the follovving redox reaction :

ficate wive-Ren Rz swet i ¢

'_ Cr,02"(aq) + Fez‘“ (ag)+H* > Cr3+ (aq) + Fe3* (aq)'

Menuon the b1ologlca1 nnportance of Na, K and Mg
Na, K &2 Mg-«?ﬁ%ﬁ@ﬁﬂ%@ﬂﬂl

Discuss the mechamsm 1nvolved in Markovnikov’s rule.
AFeTren Afere IS FARF s s
. . b5 -
Write a short nete on acid rain.
maqﬁa Beig @6 R Bl oA

What will happen when Dlmethyldlchlorosxlane is hydrolyzed and product
is polymerized ? :

Gﬁﬁﬂﬁﬁ@ﬁm@ﬁmwﬁmqu@wﬁ@ cﬁ?ﬂﬁwmﬁm‘fw
F qG?
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Answer any three questions :

@ @I foafs dtia e (St ¢
(a) Establish the relation between K, and K. for the following reaction.

What is the effect of temperature and pressure on equilibrium for this
reaction ? 3+2=5

fare [RfFba o7 K, 92 K, -G S TR camnkﬂ?ﬁ%mﬁaww
1O C TS0 U K (K Wﬁﬁml

N, (g)+3H,(g) —» 2NH, (g), AH = —92.5kcal mol™*

N, (g)+3H,(g) > 2NH, (g), 4H = -92.5kcalmol "

(b) State Pauli’s Exclusion Principle and Hund’s rul_e of maxin?um
multiplicity. Why are half-filled and fully-filled electronic configurations
are more stable than others ? Arrange the following orbitals in increasing
order of their energy :

6s, 5d, 4f and 6p. 1+1+1%+1%=5
SASRm Ay TS @R 2T-a7 T @i NS Tl | o @R 7)ol Zrarg
Repiefr ow R (20 @M m?mmﬁﬁﬁ@mwﬁﬁm
e 8

6s, 5d, 4f 94X 6p

(¢ Complete the following reactions : ‘ 1x5=5
e Riemel T 3@t ¢
(i)

() CHz— CH =CH, + HCl —perexde , o
(i) @ Loy —FeS, o
Cl
(iv) ©/ #CHLCIG g = o
(v) © N COGT —— a2
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(e)

Define transition elements. What is the general electronic configuration
of transition elements? Why Zn is considered as pseudo-transition
elements ? Among first transition series which atom will show maximum
oxidation state and which one will show single oxidation state ?

1+1+1+1+1=5
FRETIET G G T 2 FRERTANA T ARG ZAFN R 2 Zn-G o
F18te! (pseudo) @S (et B S <=1 T2 YN = ﬂ?@?l‘i‘ﬁﬁ RG]
RSy ean cﬁﬂ%ﬂﬁf‘wmﬁqwa« I GIEL FEAR S S9g (IR ?

Define standard enthalpy of formation. Calculate the standard enthalpy
of formation of ethane from the given data : 1+4=5

ol G ﬁmm«a?ﬁm—cw%ﬁm el AR
RAIA-GT T Sl B 2

C(graphite)+ 0, (g) > CO, (g); A H® = -394 kJ mol ™!
H, (g)+%02 (9) - H,0(); A:H° = —286kJmol !

CyHg (g)+Z0,(g) - 2C0, (9)+ 3H,0(); A H°=-1560kJmol *
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